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First Year (T.D.C.) Science Examination, 2018

CHEMISTRY
(Organic Chemistry)
: Paper-II

Time Allowed : Three Hours
Maximum Marks : 50

PART - A (@us-31) [Marks : 10
Answer all questions (50 words each).
All questions carry equal marks.
it v ARt €1 e T SR T v W e | A
it ol & ofe A E 1
PART - B (@uE-/) [Marks : 25

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

T TS § Teh-Ueh T99 974 gU, Fet Ui 99 Hifwa |

TeF T¥ T I 250 T Q w91
st 7oAl & o7k TEE ¥
PART - C (@uE-w) [Marks : 15
Answer any two questions (300 words each).
All questions carry equal marks.
i SN TR FISTT | Tk W9 o TR 300 T8 § S 7 2
Tty ¥ st wHE ¥ |
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1. ()

Gi)

(i )

(iv)

(v)

PART - A

(@3-3 )
Draw the resonating structures of carbon dioxide and
benzene.
FETSTE SRS o SoiA i A Famed i wefdia
HIfST |
Explain the benzyne or aryne intermediate.
SoTe eruaT AEHA HeAEd! hl qHEEa |

Write the name and structures of different optical

isomers of tartaric acid.

e o % fafm weifaeh qeedl il @ 3
am fafed |

What is walden inversion ? -

e JreE F 1 82

What is Baeyer's theory of strain ?

A 1 fafare w1 fagr @01 82
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(vi) What do you mean by doubel bond ? Explain why
double bond is stronger than single bond.
fgeiu @ mwwﬁ%?w@ﬁfsﬁa,mw
i e ek o H €2 |

(vii) Chlorine behave as a —0 & —p directing group in
chlorobenzene inspite of being a deactivating group.
Why ‘7
i A e T ferafEEE TE e A
_oa_pﬁgaﬁﬁwimﬁmm%mﬁ?

(viii ) Why nucleophilic substitution reaction takes place faster
in benzyl chloride.
sheiver i A S et sfufspand e
Q ge @ et 82

(ix) What is Ulimann reaction ?

SoT sttt o B2
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(x) m SN2 reaction we have inversion while Sy1 we have

racemisation. Why.?
S\ sxfufshan # wicelem 2 & swafer S, 1 # Yeffirmo
BIT 7 | Ri?

PART - B
(Tue-a)
UNIT -1
(FTE-1)
2. Explain the following with suitable example :
ﬁw%ﬁaa %1 3fed ST F WY GHE
(i)  Hyperconjugation
SR
(i)  Electromeric effect 216x2=5

AL 9
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3. Describe the formation, detection and one use of following

intermediate.
frfafed awgedt & i, vg=m 99w 39En =1 9o
HifS |

(1) Carbonium ion -

FEH 3T
(i)  Nitrene 2ax2=5
BIEFAES
UNIT - II
(F&TE-11)

4. Write the IUPAC name of following by showing R and S

configuration : 1x5=5

frefafad 1 R 9 S fa=mg gwia gu [UPAC = fafed .

OH

(i) CHZOH—(IZ—CHO
H
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CH,OH

HO—?—CZHS
Cl

COOH

(iif) H-C-OH
CH,COOH

Cl

|
(v) H-C-SOH

CH,

(V) 2 l—(l:,—H

H—(II—CI
CZHS

5. Write short notes :

Hftre feoqot fafed -

(i) Racemisation
RiLiEaul
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(i) Asymmetric synthesis 2Y4%2=5

FrEufad HeTo
UNIT - III
(FT$-100)
6. Explain:
TugEd

(i) E,and E, reactions.
.El 7 E, atfvfsmand
(i) Markovnikov's rule and peroxide effect 2Y4x2=5
qrRiETE & e 9 WeERS o
7. Describe different methods of synthesis of acetylene. Explain
its physical propetties. 5

@Wmﬁﬁmﬁuﬁmwmlmm

o FHAEA |
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UNIT - 1V

(FHE-IV )
8. Explain the following :
Frefafea = aremes .
(i)  Birch reduction
[EEEEEE
(i)  Friedel crafs reaction 2V5x2=5
e sh1we sifufsman
9. Complete the following reactions :
frfafaa siffimnet =y 9o Fife
ooy CHCHCHCL
@ CH, AlCE
3 KMnO,
(i) C¢H,CH,, A
HNO,/H,S0,
@ =gy 0
= = RCOCI
(iv) CgH, AIC],
CH=CH,
) H,/Ni 20°C .
2-3 atm
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10.

11.

12.

UNIT -V

(3E-V)
Explain the S;;1 mechanism in alkyl halide. What is the effect
of solvent, alkyl group and nature of nucleophile on the

reaction ? 5
fere Somee @ S 1 frafafy #1 gEeRd | sfufwa W
foeTas, Mok W W@ I TR I FHA H1 M AT
B 72
Explain the benzyne mechanis of nucleophilic substitution aryl
halides. 5
e Semgs F AE T e wt S feafaty
quEd |

PART - C

(TUs-H)
Describe the following methods of determination of reaction

mechanism in detail :

sfufsran frarfafy frufo =t fr= fafel o forqa aof =i

(i) Cross-over experiment

QIOTHA WA
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(i)

(iii)

13. (i)

(ii)

(iif)

Product analysis

3cg fawerean

Trapping 22x3=7.5
qRHE

I-butanol does not exihibit optical isomerism while 2-
butanol shows. why ?

1- S TR Tl e feraman e 2-=geten
feman & 1 =412

Explain erythro and thero isomers with suitable
examples.

UG ISRV < R T o gy o e |
Explain enantiomerism and diasteromerism with suitable
examples. 24x3=7.5
ur wfcifsrearan & faufn qTeEad H 3w SR
BEEERT :

14. Write short notes :

Hitra feuoft fafed .
(i)  Acidity of acetylene
UHifeeta @t eveftaar
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-

(i) Diels-Alder reaction
Ereg-Tee stfafsran
(iii) The saytzeff rule
esig fram
(iv) Hydroboration
B SIARIAIRLTT
(v)  The cyclobropane ring 1/4x5=7.5

TREAINE ged

15. Discuss the Huckel rule. Aromatic compounds undergo
substitution reaction while alkene give addition reaction.
Explain why ? 7.5
et 1 i 9 b AT | ek e Sl s
% € safw Qﬁﬁ‘-r Irmerer Afufsran | gagEd R=i?

16. Complete the following reactions :

e arfirfimanati @ qof SR -
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. Cu, Cl,
(1) ___u_z__'_—>
Hecl

NH,
= " NaNO, Cu
(i) — 7 — !
: HCl
Gl
. HNO
(lll) s 75
H,SO,
Br
: Liq.NH
(iv) R s
-33°
MgBr
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